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74. Maximizing revenue A sales analyst determines that the revenue from sales of fruit smocthies is given by R(x) = -60x7 +300.x, where ¥ is the price in dollars charged per item, for0 S x £ 5.
a. Find the critical points of the revenue function.
b. Determine the absolute maximum value of the revenue function and give the price that maximizes the revenue.
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76. Minimizing rectangle perimeters All rectangles with an area of &4 have a perimeter given by P(x} = 2x + —, where x is the length of one side of the rectangle. Find the absolute minimum v
¥

(2, =0). What are the dimensions of the rectangle with minimum perimeter?
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alue of the perimeter function on the interval
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